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According to Abaye a stranger who ate Terumoh is exempt

OVERVIEW

PR 712 °nm "M rules that the exemption from paying money when one is
simultaneously also liable for a capital offense, is not limited to death penalties
meted out by the 17 n°2, but even if the death penalty is o»wi . The source of
s'71"217 ruling 1s a dispute between »2X (who derives it from NOX 110X) and X237 (who
derives it from 771n). The X3 stated that the difference between X271 »aX is in a
case of 1IN Yaxw A1, for which he is liable for ow >a inon,' but not for n73.”
According to »2X the ruling of 7"217 applies even to 2w >7°2 An°» (which the case
of Mox describes), so he will be 1o from payment in the case of 7170 28w Ar:?
however according to X271 the 71 1712772 7% op of 7"217 applies only to N7 (the
case of 7211), but not to 2w *71°2 nn°n, therefore he is liable to pay for the 17N
which he ate.’

Mmoo responds to an anticipated difficulty:
- NYD 21097 N1 ANT (x5 97 nos) DM INIRT 5399 NP TN MY 1121990 YN

And regarding one who eats a2 20 (where he is liable to pay, even though
there is a D°»w >7°2 70 20 for eating 7M17N intentionally) and similarly one who
was w2 wIpna Yy, according to v21 who maintains that one who is w7p72 9v1
intentionally is 7% 2°n,% and nevertheless he is liable to pay for the awa 7w
(as well as the m17N); even though that in these two cases there is a >7°2 7n°» 211
o°nw (by 7m0 according to everyone and by n12°v» according to °27) which should

"'We derive the an°» arn for a 71 who eats 713 7m0 from the P09 (0,23[MR] RIP*Y) which states, Rom VoY WYY X
1MP9m° °3 12 ), referring (also) to (a 71 who eats) 1N,
% There are varying differences between N1 (which is harsher) and a°»w >7°2 7n°n (which is more lenient). Some say
that N> is death at fifty years old and o»w >7°2 7n°» is at sixty (7"9 n"7aX). Others maintain that by n13 the offender
and his children die, but not by 2’»w >7°2 in>n. The 0"2m0 writes that by n95 the w91 is cut off from X271 071y, but not
by QAW >T7°2 anon.
® This is in a case where the 71 ate the 72 711N, but not if he ate it 2w3, where it clearly states in the 770 ( Rp™
7,25 [MR]) that wIpn DR 1737 100 YOV NPwnan AoM mawa wIp 298 ' woR). One must pay back to the 3713 the principal
plus a fifth [a fourth] which (all of it) becomes m17n.
* The 1105 of »"2%p does not require that there be an actual 7n*n a1 (either by 7"°2 or D»w >7°2); as long as one
transgressed an 7172y for which there would have been a n°» 211, had he done it 7123, so even if he did the capital
crime 332 (where there is no 7n°»n 21n), nevertheless he is PrY2wnn Mwd for any 131 210 which he accrued during
his transgression of the capital crime. See later 8,717. See footnote # 14.
5 Others amend this to read; 2°°117 ,AN°A2 7" 1AKRT 275 7Y LA,
6531 derives this from a w"1 of Xvn (by n2°yn) ®vn from 770, See footnote # 1.
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exempt him from payment according to »ax,” nevertheless they have to pay, for it
is a decree of the 771710, that in these cases the rule of 2"2%p does not apply.

One who eats 232 72170 or one who is 2Ww2 wpna H¥n is required to pay, notwithstanding that
there is a 2w >7°2 N 210 for eating 712 717N or being 712 wWIPna 93, The rule of n"a%p is
suspended regarding 172°vm) 770 by the 2157 NI

mooin asks (based on what was now said regarding the 2"77°13):
= DY 12 MN 29N VT AND YINN ON)

And of you will say; according to *°28 who exempts 2°%w 57523 n1no» 5291 from
monetary payments -
= %N NYIYNA 19T 9INT 2295 1D N0 N2INI %39 ON
If 2'9 agrees to "3 who maintains one who was 7513 ¥ is liable for >7°2 o
oY -
= 5y RY DY9IIN U 199193 WTPN DY NN YIIND (0w x,03 91 onos) IYY D3 9993 NI INNDN
Why did we learn in a Xn>92 in @''> ?99; one who eats y»n of WP on o2
some say he was not ®¥» and need not pay the wmm 177 -
- 73N 12 NOIINI 539 DIIMIN YW NN 139IN)
And 7111 "1 explained there that the '2392I8 @' is 77''239 who maintains »"2% even by
mn>73 521 (or AW 772 An°H 21 according to *°aR). This concludes the citation of the ¥n*>72
and the X773 in w"2 P79, M0N0 continues with his question -
- %955 Drp 79w N9T WTPN 53 NINNA 9T 1199 N
But since the Merciful One revealed that there is no »"2%p regarding w7pn
(according to "1 there is a 1N 210 for 7M1 72°¥n [and 7"217 (Whom we now assume agrees
with °27) maintains (according to »aR) that n"a%> applies even to D»w 72 an°»], and

nevertheless there is a Pa?wn 211 for AWwa 77°¥n)
= YTPNA HYIMY DTN 1Y PN 19 XD ONT

For if it were not so (meaning if n"2%p applies to 717°¥n), there cannot be a
person who has to pay for being w7pma Y% (since he would be MW on account of
n"2%p according to *27 and :1"217) and since we know that one is 77°y»2 211 this can only mean

that the laws of n"2%p were suspended (by a 3"713) regarding 79°¥n -
- Y533 navra vy 077 912515 )2 NN XY 29N NI NIINT ) NDA 15 ON

7 See footnote # 4.

¥ See footnote # 3 (regarding 7m17n), and 10 0,7 Xp" regarding payment of a WM 17 by w32 wipRa Y.

? There is a N2 arn for eating ym on noy, therefore even though he was w7pma v (by eating the wipn 5w yan);

nevertheless since there is a n73 21 for eating v, he is exempt from the 77°v7 payments since n"27p.

' The n"27 miaa amends this to read oX7 722 73773 7.

' This question is valid providing that we combine the rulings of 27 that there is a in>a 2rn for 7122 79°vn, and the

ruling of 7"217 according to »ax that n"2%p applies even by 0°nw >7°2 in°n. Therefore we must conclude that there is a
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Therefore (since there is no n"2%p regarding 77°yn) the one who ate WP 2w yan
even on 1o2 where there is a n92 21’171 (for eating y71), nevertheless he should be

liable to pay for the 79°v», and we should not invoke the rule of %'"a%p! Why did "
13m say that according to 71"217 he is Mwd from paying for the 7%°¥n since it is n"2%p, when by
72°vn the law of n"2%p does not apply?!

mMooIN anticipates a possible answer to his question:
= 119353 NA972 DY DYPT 139IN RIT XINNA S9) XPYT WTPNT NN NN *I)

And if you will say; this revelation of the 7mn that we do not apply »'"2a%p
regarding 112°¥n, is only a n"2%p which arises from the 7052 29977 for being wpna %ym;

that 0w >7°2 7n°n 211 does not exempt the A w32 91 from paying -
= NP ") XD N5 NIINT HDIA MDY DN VAN

However, there where he ate w717 Y2 ynn on o> where there is a n72 21°11, which

is more severe than 7n°», the 79I did not teach us that it does not exempt the
perpetrator from paying. Therefore there (seemingly) is no question, for even though there is no
n"2%p of o°nw >1°2 nn°n 21N regarding 77°Yn, but there is the exemption of n"2%p even for 72>y if
there is a N5 21’17 as there is by o2 yrn.

mooIn rejects this solution:
= HDOA NN NN YIINN (3,85 97 ow) DN PNT XN )5 ON

If this is so (that we can differentiate between the "2 of nn°»n (which is not
effective) and the n"2%p of n1> (which is effective), this which the mw» taught

there, ‘a non-j770 who eats 72190 which is 21 on 1o5; if he ate it -
= PPITYNN )1 9109 I3 WNINI 19P DIYN IV

Accidentally (not realizing that it is 7217n) he pays to the 77> the principal and an
additional fifth (fourth); however if he ate it 79122 (knowing that it is 72170) he is

exempt from payment to the 373 -
= N2INI %295 19391 NA97a DY OIPT 91V na 291932 w91

And the X% there explained the reason he is =w» if he ate the T9t»2 7N is

because it is »''2%p according to ;7''317 (who maintains that »"2%p applies by n72). This
concludes the citation of the 71w» and the X713, NBOIN continues -

o"nra that n"2%p does not apply to 72°¥n, for otherwise how can there be a 1m>wn 211 by 72°n, since there is always
the n"2%7). However if *27 and 7"211 do not agree, there is no question on >3 because he can maintain that »"a%p
applies only by 7"°2 mn°n so there is no 3"nm regarding n12°¥n that n"2%p does not apply there, since by 77°vn there is
only 2w >7°2 in*» and not 7"°2 nn°» so 127y never entered the picture. Similarly there is no question on 77"217 (even
according to »2x) if he disagrees with 27 and maintains there is no 70" 21 at all by 72°vn, therefore again n"25p
does not enter the picture.

12 x,25.
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- NDT NI DIVN HVDT 3) IV XYM
But now (that the '72°n °21' assumes that the 5"7°1a that disallows n"2%p by 772°n
7m1m is only regarding the »"2%p of ;in°x but not the n"2%p of N12)" he should be
exempt from paying (if he ate 7092 y1r n™17N) even if he ate it A3 since there is

n9> for eating y71 on 1199, and the '8»°n *31' maintains that the n"2%p of n73 is effective even
though the n"2%p of 1in°» is suspended by 1M 79°vn.

moon clarifies what needed to be assumed all along:"*

- (99 PP 1IPY 119INNTI N33 NATTA Y DIPT 1359N INVYA 1PYaNT
For »"2%p applies even by s (where there is no actual 7n°» 2v1) as the X3
states later in our P95, so one who eats nos2 yan N should be Pm>wnn Mws even if he

ate it A3, but the mwn stated that he is Pm>wna 2°°17 if he ate it w32 -
= 119399 12972 159 0P 19999N NDT INYA N1MINT NN NN 9T DIVN TH99 by NON

Perforce you must say (not like the 77m°n °2' but rather) since the 7910 taught that
we do not say »"'2%p regarding the 7 2991 of 3332 71290 (but he needs to pay) -

= ND 595 XION 29 DAN ) Y907 NN RPIT 13290N NI 195 NIIN 29 1971 Xy
So the same suspension of n"2%p applies even when there is n12, and we do not
say that the 7770 taught the suspension of n"2%p only by 0, but when there is
na> the suspension does not apply; we do not say that; for the mwn of mosa ynn NN
indicates clearly that there is no n"2%p by w2 770 even if there is a N2 2vn, the question

remains why do we say 2¥yn R? by nosa wipn 2w ynn since we have proven from 7170 that there
is no n"2%p at all!

In summation: There seems to be two contradictory rulings. Regarding 77°v» we say that if
someone ate A2 1092 wIpa YW van the rule is Hvn XS because we utilize the n"2%p of ynn n?OX
no9a which is a N5 210 to exempt him from payment. Regarding 3w2 nooa yan 7mn 20 the
rule is he is required to pay and we do not utilize the N5 of o921 YR NP*3X to exempt him."

N1B0IN answers:
- NN N9 1995 13191 PIYUNT DIYN NNYINT INY SIRYT *9119 wn

And one can say; that the 33w of 72190 is different (from the xw of 79°vn), for
the payment of 72170 to the 175 is an atonement and not (merely) a monetary

" This explained why if one ate v X2 1092 WTpA 2w v1n since the »"2%p of nosa yanT N3 applies.
' See footnote # 4.
' There is a contradiction only if we assume that the Xn™12 of 719°v» follows the ruling of *a7 that in"a 72°w»a 1A
(and the ruling of 7"217). [See X"w"7n who attempts to reconcile the two rulings. ]
'® moown accepts the answer of the 'X»°n *1' that the suspension of »"2%p by 79°¥n is only regarding 7in"2, but not
regarding n15 (of nmooa ynr), and therefore v X2, The reason why by 7m0 he is 21 is because the payment of
7m0 is not 131 (which would be exempt on account of n"27p), but 71795 as MooIN explains. See ‘Thinking it over’.
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compensation -
- Y9119 9199 199N DINnY 1923 NN ONT x mywn 1 pr9) TN NIVNI 1929INRTD

As the mwn states in N1 noon, that if the 37> wants to pardon the 7% w° from

paying back the 72170, he cannot pardon him and the %> must return the 72170 which

he ate. The reason is -
= 1995 NYN 19191 "N NYT DIVN

Because the obligation to pay is not monetary, but rather an atonement for eating

TI0°R2 AN, MBI continues to point out the 779 aspect of a1 "MPWwN -
- 1795 YN Pinyh 1995 YW 21 S 9T 1Ly H12991 YIN 1999N)

And even if a 5% ate his own 772190, where he did not steal anything, he still

needs to pay the 7992 to himself and an additional fifth to a 37> -
- 199991 190195 19391 12972 7Y 0D TV NY a9

And therefore it is not applicable to say »'2%p to exempt him from ;7952. This is

regarding 7m0 where the payment is a 7793 -
- 21\0‘1‘,711 DY PN BYYN NOR N30 DIVN 1N YIPN DY vmIN )P YaN

However the principal and w»m which one pays for 79vn of wTpa is not on
account of 71953, but rather he is paying the money which he stole from w7p:1.

mooin offers a proof that the payment by 7170 is a 7793:
=995 9957 1999 DIYN XY NIN NI957 DIVN 29N NIMINAT Y1)

And you should know that the reason he is 27 in a case where ynn n@¥an HoK
noo1 is because the payment is a ;1983, but he is not 2’11 because since the 770

taught that there is no »"2%p by 1, there is included in this the teaching that there is

no "% by N5 (as MO wanted to say in the question); this is not so, we do not say 73 °237 11°3 -
- 229535 12973 7%Y 0597 DYON NNNA Y09 KT XI9Y NNT

For according to 821 who does not use the exemption of »''2%p by >7°2 % 2vn

21w (even according to 11"217); only by n75 217 -
- 2R1n 1995 ©IUN SN RIN NDDA YN NNYIN YN 90991 XY NNRYLY SNN

' This is discussing (even) a case where the X W ate the 77170 which belonged to this 172.

'8 The Y%7 may have inherited it from his maternal grandfather who was a 1713, or he bought it from a 312

' The rule regarding the payment of 7= eaten by a i is that he must pay with produce that can become (and does

become) m17n. Therefore in this case the YXIw° must take the same amount of 727N that he ate, from P11 and

designate it as payment whereas it becomes 7117n. However the additional fifth (which never belonged to him and is

a fine) he must pay it to any j72.

% 1"3%p exempts one from paying, but it should not hold him back from receiving a 7193.

2! Perhaps the reason for this distinction between 2110 and TP may be that by 79°y» there is a 72°¥» 121p, which is

7901, therefore the payment is monetary in nature, however by 7170 where there is no 727p, the payment is the 71792.

** Therefore according to X217 there is no "1 by 10 (and 7%°vn) that n"2% does not apply to them, for since

there is only a 7in°» 21’1 but not a N3 211 by 7N (and 72°¥») the whole concept of 1"2%p does not apply.

219 mx "N writes: a0 7297 1R RDT AW 223 RIAAD AT A'YRY AN 7012 AR PIWDTA 01T 71907 1010 w0 TN
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What is the reason X211 does not exempt 7o52 y2r n»1n 2238 from paying (for
there is the n"2%p of N122 nova y»n), but rather the reason why he is not exempt is
because the 72170 payments are a 71992, and n"2%p applies to money but not to 7193.

nvoIn asks:
= ANNAY 192 N9 29NV NN 24(:,\:3 97 M%) PPNYI P99 19NT NI 99NN ON)

And if you will say; but we learnt in a 712» in PR P99; a N> whose child

became intermingled with the child of her n°1v1> nrow -
- 119nNY 71 13 IX PYNIY 1YYN 13 P90 199 PNt AN NT 199N

And the children freed each other when they grew up. And similarly if the child
is one where there is a doubt whether he is nine month pregnancy to the first

husband or he is a seven month pregnancy to the latter husband -
- WIINY 197 PPRYUN PN D12IINA 1IN ON 1929NT

Where the mwn states if these Mp50 ate 772190 they do not pay w»Im 399 because
it is possible that the eater is a 7772. NDOIN asks -
- 75801 1295059 NI 19957 1199 ININ)

But why are they 79, since it is a 799> let them be liable because of the
doubt?!

mooIN answers; you are right!
— 2811195 123593 PN AR YWIIDNY 193598 INTIT 911D W

And one can say; that they certainly must separate new 7m0 for a 7793;
however they need not give it to a 3712 —

mooIn discusses a novelty:
= IYA9NA NNIN NI9INY 9127 7298 NT 29

And according to this that the 772 290 needs to be w151 to accomplish the 7752
but does not need to give it to the 3772, it is necessary to say that the 77995 depends

WM QYWAY NN RITW IINY D7 ANINT AW IRWT NT? WA R 779 2R XTI XPR An170T.
* The mwn begins on X,vX. The case of 121 "0 12 790 is not mentioned in this 771w, but in the 71wH on X,p.
5 This way they are both Jews; however one is a j72 and the other is a 79mwn» 72¥; we do not know who is who, so
each one is a MMMIWH PO 3772 190,
% A woman was married to a 119 and he divorced her or died and she remarried to a YX7w° within three months of his
death (divorce) and had a child after seven months of marriage to her second husband (or vice versa). There is a
doubt whether this child is from a full-term pregnancy of the first husband and is therefore a 373 or is he the child of
a short term pregnancy of her second husband and the child is a 2x7w>.
7 If it is a monetary payment we understand for they can say X717 199 1ama X°¥m7, however since it is a 7192 why
should we not force them to undertake the 7795 (like by any Xn»7K7 P50 where we are stringent)?!
% See footnote # 19.
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on the separating the nx1an that it should become 1, but the 77195 does not depend on
giving it to the j72.

moon therefore clarifies:
— Y9N1Y 7098 N1 XDV 1239 13991 DINNY 9159 175N PPNT NI

And that which the 71wn (cited previously) stated that the 375 cannot pardon the
X for eating 7m0, that is only in regards that the x> will not need to
separate; this the 375 cannot pardon, because the 71795 depends on the w197 -

25Y XYY P95 HInnb 5195 YI9hY INRY YaN
However, after the X7 was @92, the 172 can pardon him that this new 72170
should belong to the x>

SUMMARY

The payment of 7m0 *m%wn, which is for a 7793 and not (merely) monetary
compensation to the 373, is not subject to »n"2%p. The >"n13, which suspends the
n"2%p by 19°vn (according to the combined rulings of 27 and 71"217 [according to
»aX]), is only regarding 2°»w >7°2 0%, but not regarding N72.

THINKING IT OVER

Mmoo explained the reason there is a 21’1 to pay by 11092 Y1 NN 9IX is because
the 2wn of mmn is 71939.°° Later moon states that the 7793 is accomplished
through the w197, but not through the 173°n1 (and therefore the 3775 can be nn the
n1°n1).%" It appears then that the 73°n1 is merely a 017 2. The previous question of
nMooIN seemingly remains; since the 72°n3 of 7170 "M7wn is M1, why by nm11n 98
o2 ynn does he have to pay the 3772; since it is 127 %W (not 7192), he should be
(required only w1579, but be) Mo from paying, since there is the n"2%p from the
N5 20 of yan?!1??

¥ See “Thinking it over’.
3 See footnote # 16.
3! See footnote # 29.
32 See apy> N3 and 71 MR 7"20.
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